

District School Board of Pasco County

20430 Gator Lane • Land O' Lakes, Florida 34638 • 813/794-2221

Heather Fiorentino, Superintendent

www.pasco.k12.fl.us

Department of Purchasing Kendra Goodman, CPPB, Purchasing Agent 813/794-2221 Fax: 813/794-2111 727/774-2221 TDD: 813/794-2484

352/ 524-2221 e-mail: kgoodman@pasco.k12.fl.us

February 3, 2009

MEMORANDUM

TO: Honorable School Board Members

FROM: Kendra Goodman, CPPB, Purchasing Agent

RE: Third Year Renewal of Three-Year Contract

Bid #07-101-LR, Manitowoc Ice Machine Equipment – Maintenance Department

Central Food Equipment

On March 20, 2007, official action (attached) was taken to award the above-referenced bid to Central Food Equipment. This bid is a three-year contract, renewable annually based upon mutual consent of both parties. The first year of the agreement expired on March 6, 2008. Subsequently, the second year of the agreement was awarded on February 5, 2008 and covers the period of March 7, 2008 through March 6, 2009.

Considering services have been satisfactory, Rebecca Rose, Bid Department Manager, Central Food Equipment was contacted to verify her willingness to enter into the third year of the agreement. As such, Rebecca Rose has agreed, in writing (attached), to enter into the third year of the contract.

Therefore, at this time, it is my recommendation to enter into the third year of the agreement with Central Food Equipment. The third year of the contract will cover the period of March 7, 2009 through March 6, 2010. Should you have any questions regarding this matter, or if I can be of further assistance, please feel free to contact me at your earliest convenience.

KDG/lmr

Attachments

Date/Time: January 28, 2009; 09:00:00



District School Board of Pasco County

20430 Gator Lane • Land O' Lakes, Florida 34638 • 813/794-2221

Heather Fiorentino, Superintendent

www.pasco.k12.fl.us

Department of Purchasing Kendra Goodman, CPPB, Purchasing Agent 813/794-2221 Fax: 813/794-2111 727/774-2221 TDD: 813/794-2484

352/ 524-2221 e-mail: kgoodman@pasco.k12.fl.us

January 30, 2008

MEMORANDUM

TO: Honorable School Board Members

FROM: Kendra Goodman, CPPB, Purchasing Agent

RE: Second Year Renewal of Three-Year Contract

Bid #07-101-LR, Manitowoc Ice Machine Equipment – Maintenance Department

Central Food Equipment

On March 20, 2007, official action (attached) was taken to award the above-referenced bid to Central Food Equipment. This bid is a three-year contract, renewable annually based upon mutual consent of both parties. The first year of the agreement will expire on March 6, 2008.

Considering services have been satisfactory, Rebecca Rose, Bid Department, Central Food Equipment was contacted to verify her willingness to enter into the second year of the agreement. As such, Rebecca Rose has agreed, in writing (attached), to enter into the second year of the contract.

Therefore, at this time, it is my recommendation to enter into the second year of the agreement with Central Food Equipment. The second year of the contract will cover the period of March 7, 2008 through March 6, 2009. Should you have any questions regarding this matter, or if I can be of further assistance, please feel free to contact me at your earliest convenience.

KDG/lmr

Attachments

Date/Time: January 30, 2008 10:48:00

District School Board of Pasco County Bid Recommendation

Bid Title	Manitowoc Ice Machine Equipment Maintenance Department	Number of Vendors Notified	69
Bid Number	07-101-LR	Number of Bids Distributed	18
Date Solicited	January 31, 2007	Number of Vendors Bidding	5
Date Opened	February 21, 2007	Number of Vendors Not Bidding	0
Date Board Presentation	March 20, 2007	Funding Source	Asset
Total Savings	\$13,315.71	Grand Total of Bid	\$110,641.60

Recommendation:

Recommend acceptance of bid from Central Food Equipment, Inc., as noted on attached bid tabulation sheet, as lowest and best, responsive and responsible, "all-or-none" bid meeting written specifications.

Term of Contract:

This bid is for Manitowoc Ice Machine Equipment "as needed" by the Maintenance Department for use throughout the District. It is estimated that the balance of line equipment will be \$15,000.00. This is a three-year bid renewable annually based upon mutual agreement of both parties. The first year of this contract shall be effective through March 6, 2008.

Notations and Exceptions:

Beltram Edge Tool Supply, Inc. had an addition error and could not hold their total all-or-none bid price. As per the general terms and condition of the bid, in the event of price discrepancy for an all or none bid the total price will prevail. Therefore they have withdrawn their bid.

Recommend rejection of lower bid from Gulf Ice Systems, Inc. because of failure to meet the written specifications for compatibility with existing systems (nickel impregnated evapator, automatic cleaning process, hot gas harvest).

Offers from the vendors listed herein are the only offers received timely as of the above opening date and time. All other offers submitted in response to this solicitation, if any, are hereby rejected as late.

Date/Time: March 14, 2007 10:14:00

Bid #07-101-LR Page 2

Bids Evaluated By:
Phil Laycock, Crew Chief, Maintenance and Facilities Services Department Mike Venezia, Crew Chief, Maintenance and Facilities Services Department

Bids Prepared By:

Laurie Roberts, CPPB, Buyer, Purchasing Department

Reviewed and Authorized By:

Kendra Goodman, CPPB, Purchasing Agent

		Manufacturer / Product # B-400 Storage Bin, S-Style, Stainless steel		:/SD-0852A		c / SD-0852A
		,				
IM-4	5	exterior metal	541.00	2,705.00	579.69	2,898.45
		Manufacturer / Product #	Manitowoc / B-400		Manitowoc / B-400	
		B-570 Storage Bin, S-Style, Stainless steel				
IM-5	10	exterior metal	606.00	6,060.00	649.88	6,498.80
iivi O	10	Manufacturer / Product #	Manitowoc / B-570		Manitowoc / B-570	
			Manilowoc7 B-570		Manitowoc / B-570	
IMAG	15	S-970 Storage Bin, S-Style, Stainless steel	956.00	12 940 00	047.02	12 767 45
IM-6	15	exterior metal	856.00 12,840.00		917.83	-,
		Manufacturer / Product #	Manitowoc / S-970		Manitowoc / B970	
IM-7	15	K-00370 Adapter for 0852A	118.00	1,770.00	127.17	1,907.55
		Manufacturer / Product #	Manitowo	c / K-00370	Manitowo	oc / K-00370
% Discount for Balance of Line Equipment					5	
% Discount for Balance of Line Equipment TOTAL ALL OR NONE BID PRICE		50/10/12				
		*\$61,145.00		\$95,641.60		
		*Addition Error	All or None, Bid w	ithdrawn by vendor		

DATE OF OPENING: February 21, 2007 @ 2:30 P.M.			Great Lakes Hotel Supply Company		Gulf Ice Systems, Inc	
BID TITLE: Manitowoc Ice Machine Equipment			1961 Grand River Avenue		7790 Sears Boulevard	
BID # 07-101-LR			Detroit, MI 48226		Pensacola, FL 32514	
		Board Meeting 3/20/07				
ITEM#	QTY	DESCRIPTION	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
IM-1	5	SD-0452A Ice Cube Machine, 115 volt	2,312.00	11,560.00	1,428.98	7,144.90
		Manufacturer / Product #	Manitowoc / SD-0452A		Ice-O-Matic / ICE0500FA	
IM-2	10	SD-0602A Ice cube Machine, 208 volt	2,721.00	27,210.00	2,213.73	22,137.30
		Manufacturer / Product #	Manitowoc / SD-0602A		Ice-O-Matic / ICE0806FA	
IM-3	15	SD-0852A Ice Cube Machine, 208 volt	3,254.00	48,810.00	2,213.73	33,205.95
		Manufacturer / Product #	Manitowoc / SD-0852A		Ice-O-Matic / ICE0806FA	
		B-400 Storage Bin, S-Style, Stainless steel				
IM-4	5	exterior metal	1,110.00	5,550.00	523.78	2,618.90
		Manufacturer / Product #	Manitowoc / B400		Ice-O-Matic / B55PS	
		B-570 Storage Bin, S-Style, Stainless steel				
IM-5	10	exterior metal	1,190.00	11,900.00	523.78	5,237.80
		Manufacturer / Product #	Manitowoc / B970		Ice-O-Matic / B55PS	
		S-970 Storage Bin, S-Style, Stainless steel				
IM-6	15	exterior metal	1,484.00	22,260.00	724.53	10,867.95
		Manufacturer / Product #	Manitowoc / B970		Ice-O-Matic / B100PS	
IM-7	15	K-00370 Adapter for 0852A	200.00	3,000.00	122.28	1,834.20
		Manufacturer / Product #	Manitowo	c / K00370	Ice-O-Ma	atic / KBT5
•	% Disco	ount for Balance of Line Equipment	4	.0	6	3.5
TOTAL ALL OR NONE BID PRICE			\$130,290.00		\$83,047.00	
		*Addition Error				

DATE C	F OPEN	NING: February 21, 2007 @ 2:30 P.M.	Sam Tell	& Son Inc	
BID TITLE: Manitowoc Ice Machine Equipment			5851 Maspeth Avenue		
BID # 07-101-LR			Maspeth, NY 11378		
		Board Meeting 3/20/07	,		
ITEM#	QTY	DESCRIPTION	UNIT PRICE	TOTAL PRICE	
IM-1	5	SD-0452A Ice Cube Machine, 115 volt	1,837.70	9,188.50	
		Manufacturer / Product #	Manitowoc / SD-0452A		
IM-2	10	SD-0602A Ice cube Machine, 208 volt	2,256.94	22,569.40	
		Manufacturer / Product #	Manitowoc / SD-0602A		
IM-3	15	SD-0852A Ice Cube Machine, 208 volt	2,848.11	42,721.65	
		Manufacturer / Product #	Manitowoc / SD-0852A		
		B-400 Storage Bin, S-Style, Stainless steel			
IM-4	5	exterior metal	611.81	3,059.05	
		Manufacturer / Product #	Manitowoc / B-400		
IM-5	10	B-570 Storage Bin, S-Style, Stainless steel exterior metal	685.88	6,858.80	
		Manufacturer / Product #	Manitowoc / B570		
		S-970 Storage Bin, S-Style, Stainless steel			
IM-6	15	exterior metal	968.68	14,530.20	
		Manufacturer / Product #	Manitowoc / B970		
IM-7	15	K-00370 Adapter for 0852A	134.21	2,013.15	
	,	Manufacturer / Product #	Manitowo	c / K-00370	
(% Disco	ount for Balance of Line Equipment		0	
TOTAL ALL OR NONE BID PRICE			*\$100,940.35		
		*Addition Error			